PARTS LIST

ITEM|QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 | 33 |TB-200-812 1135 X 120 X 33 DECKING COMTIMDECO0001
2 2 | TB-200-924 2400 X 95 X 45 COMTIMSAWO0007
3 2 |TB-200-925 2400 X 195 X 70 COMTIMSAWO0002
4 4 |TB-200-926 1400 X 95 X 95 COMTIMSAWO0022
5 18 | TB-200-927 1500 X 190 X 45 COMTIMSAWO0004
6 4 |TB-200-928 370 X 195X 70 COMTIMSAWO0002
7 2 |TB-200-929 1560 X 95 X 45 COMTIMSAWO0007
8 2 |TB-200-930 1560 X 195X 70 COMTIMSAWO0002
9 4 |PE-400-120 TRAIN WHEEL (SMALL) COMPOL0032
10 | 6 |PE-400-121 TRAIN WHEEL SUPPORT COMPOLO0031
11 | 2 |PE-400-122 TRAIN WHEEL (LARGE) COMPOLO0032
12 1 |PE-400-151 SHAPES HDPE PANEL COMPOLO0034
13 1 |PE-400-152 KIDS COMPASS PANEL COMPOL0034
14 | 1 |PE-400-153 PLAY TRAIN ROOF COMPOL0007
15 1 |PE-400-154 TRAIN STEERING PANEL COMPOLO0031
16 | 4 MT-300-082 PLAY TRAIN STRAP
17 | 14 |U-SHAPE POST FOOT POST FOOT COMSTEMIS0026
18 1 |STEERING WHEEL BLUE STEERING WHEEL 501.020.004.001
19 | 9 |M4 X 50 TORX WOODSCREW M4 X 50 TORX WOODSCREW COMA2WS4X50
20 | 66 |M8 X 50 TORX WASHER HEAD 50MM WASHER SCREW COMA2WHS8X50
21 | 88 |M10 x 60 BUTTON HEAD M10 X 60 BUTTON HEAD COMHARSTAQ022
22 | 12 M12 X 180 COACH BOLT M12 X 180 (DIN 603) COMA2CBM12X180
23 | 176 M10 WASHER M10 WASHER (DIN 125) COMA2FWM10
24 | 88 |M10 NYLOC NUT M10 NYLOC NUT (DIN 985) COMA2NNM10
25 | 12 \M12 WASHER M12 WASHER (DIN 125) COMA2FWM12
26 | 12 'M12 NYLOC NUT M12 NYLOC NUT (DIN 985) COMA2NNM12
27 | 88 |2 PART CAP (BLUE) COMPLACAP0035
28 | 34 |2 PART CAP (YELLOW) PE CAP COMPLACAP0027
29 | 14 /100 x 100 x 100 0.0013 CONCRETE FOUNDATION
i N
55| How ey SHaees °| = 5 ]
e @Ag@u FH — e °
1°® ° X m o
i He & %o ° KR
M=) | ERE==ES
.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +2MM

1 DECIMAL PLACE: +0.5MM

ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-200 PLAY TRAIN

Product Range:

ACTIVITY PLAY

=

BN

-

&

O\.P

online playgrounds

<1.0M FFH

DO NOT SCALE FROM DRAWING

Date:

06/08/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




7578

4240

1500

: Mgﬂ”ﬂ”||\|\|\|\|\|||H|\|\||||||\H|\|||||\|H|\|||||\|||H||W\||\|\|\|||\|||H|\|\|\||||\|\|\|||||||H|\|||||\|\|\|\||||\|||§M
1500 § : : -
N . =
: - I N
| LY i WMMMWWMWWMMMM
MIN SPACE

WETPOUR AREA =30.5M?2
PERIMETER = 21.6 L/M

=

I

| g g |
T It

= =

12 SAFAGRASS TILES (1.0M X 1.5M)

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION

Title:

PRO-500-200 PLAY TRAIN

Product Range:

ACTIVITY PLAY

O

online pl

OF FENLAND

LEISURE PRODUCTS IS PROHIBITED.
aygrounds

DO NOT SCALE FROM DRAWING

Date:

06/08/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




3980

800 300

800

1000

540

540

976

ALL FOUNDATION 100 X 100 X 200MM DEEP UNLESS OTHERWISE SPECIFIED

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL | Title:

THE INFORMATION CONTAINED IN THIS

PRO-500-200 PLAY TRAIN

DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION

Product Range:

ACTIVITY PLAY

OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

06/08/2021

Page: 5

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




